
www.troax.com

Machine
guarding

Follow me

A
rt no

: 88754235 ver. 04       P
rint no

: 202008-5076-E
N

Smart Fix 
System



17 mm 13mm

www.troax.com

A
rt

 n
o

: 8
87

54
23

5 
ve

r. 
04

 

2/12

x2

x2

x1 x2x4
M8x28 60x4060x40

M8x28

20/30

Ø10

Quickdrilling screw 20500350

x15
4,2x13

Kit Corner Bracket SMF 36700096

Smart Fix System

x2 x2 x2
M8x28 M8x12

Kit Bracket SMF 36700074

Kit SMF T-Crossing  36908000

Expander 89050090Kit Corner Bracket Threaded 36700097

x2 x4
M8x28 M10x80

Kit Sign Type Approved SmF 36904000

x4 x1



Max 30 Nm

6-7
Nm

Ø10

13mm

www.troax.com

A
rt no

: 88754235 ver. 04 

3/12

12
00

5600

12
00

17 mm

1

Expander

Kit Bracket SMF 5

4 5 6 7 8 9

2 3 4

M8x28

10 11



4 Nm

www.troax.com

A
rt

 n
o

: 8
87

54
23

5 
ve

r. 
04

 4/12

M8x28

ST30 ST20

13mm

Kit Bracket 
SMF

6

7

8

9

Kit Bracket 
SMF

10

11

Kit Bracket 
SMF



www.troax.com

A
rt no

: 88754235 ver. 04 

5/12

M8x28

13mm

7 8 9

6Kit Bracket 
SMF

10 11



www.troax.com

A
rt

 n
o

: 8
87

54
23

5 
ve

r. 
04

 

 6/12

13mm

11 12

6Kit Bracket 
SMF

Kit SMF T-crossing

7

8

9 10

M8x28

M8x28



www.troax.com

A
rt no

: 88754235 ver. 04 

7/12

5 mm

Kit Bracket 
SMF

 

6

Kit Corner 
Bracket 

109

7 8

13mm

M8x28

M8x28 M8x12



www.troax.com

A
rt

 n
o

: 8
87

54
23

5 
ve

r. 
04

 

 

8/12

9

Kit Corner 
Bracket 
Threaded

 

6

7 8

13mm

M8x28



www.troax.com

A
rt no

: 88754235 ver. 04 

9/12

Kit Bracket
SMF

 

6

7

8

13mm

M8x28



A
rt

 n
o

: 8
87

54
23

5 
ve

r. 
04

 

www.troax.com 10/12

8

Kit Bracket
SMF

 

6

13mm

M8x28

520mm
520mm

Panel 
Curve

Kit Bracket
SMF

 

6

13mm

M8x28

9



A
rt no

: 88754235 ver. 04 

www.troax.com 11/12

6

8

10

7

25-199mm

9
4,2x13

4,2x13

ST20

13mm

M8x28



!

17 mmØ10

www.troax.com

A
rt

 n
o

: 8
87

54
23

5 
ve

r. 
04

 

12/12


